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1—sing¢ 1-sin25°
Ke0n— = —— = 0. 406
1+sing 1+sin25
P= KX (q+y XH)= 0.406 X (0+18X0.7) = 5.116 kN/m2
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M= 2.236X0. 4 = 0. 894 (kN-m/¥7) = 894,000  (N-mm/4%)
W I 5/ D F R

TR OO OCEIRETHE /713, LT OFHRIZL D,

RS
TR OHE (R S) - b’ = 400 (mm)
T ORE t = 60 (mm)
HmE d= 48 (mm)
PR $3.2 — 3 (R
As= 24.12 (mm?)
=z ) — h O IRE fbd= 0.42%f ck®?/yc= 3.5 (N/mm®)
ay s U — N ORFHEMERE f ck= 24. 0 (N/mm?)
MEHREL - ye= 1.0

3y V- LOBIEMORERE
27— kDR O BPEAR S '

. BRI O AR A 5
227 ) — b OWHREK

T PN o)




2) OO /) O FH 5

FALEHOALE @ x

. = (m*b’ *t+n-As)> meb ~t?42-n-As-d - m+b’ +t+n-As
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1—sin¢ 1-sin25°
Kemm—mm— = ——— = 0. 406
1+sin¢ 1+sin25
P= KX (qg+y XH)= 0.406 X (0+18X%0.7) = 5.116  KkN/m’
M= PXHX1/2XHX2/3X L
= 5.116X0.7X1/2X0.7X2/3X2 = 1.671 (kN +m/A%)
=B LA - fEHE - Bt — X 2 b
, 1+sing 1+sin25°
K =——m/m—m" = — = 1. 894
1—sin¢ 1-sin25
PP =K XyXH XBXa
= 1.894 X 18X0.5X0.31X3 = 15.853  kN/m’
H : SZEMARANGES 0.50 (m)
B : A &R 0.31 (m)
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M,= P’ XH’ X1/2X (H+H —H’/3)
= 15.853X0.5X1/2X (0. 7+0. 5-0. 5/3) = 4.095  (kN-m/A)

M=  1.671  (kN-m/7A&) < M,=  4.095  (kN-m/A)
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